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Tnpsc Aptitude & Mental Ability Model Questions Set 6
1. Find the left number in the given series
2,7,14,23, 47
Qan@ssuulL QgnLifles, allGULL eTettTenessIs: &netors:.
2,7,14,23, 47

a. 30 b. 34 C. 39 d. a4

2. Find the H.CF. of 108, 288, 360

108, 288, 360 -65T L5.G\LIM.6M. ST6BOT

a.18 b. 36 C.24 d. 12

3. What is the next term of the sequence 1,8,27,64,125,216, ...........

1,8,27,64,125,216, ............. eteo1m QFNLfletT 2BSHS 2MIy
a. 343 b. 412 C. 400 d. 250
2 34 9 ,
4. The LCM.of - ,=,-,— is
3’5’7’13
2 34 9
= =, =,— -601 L5.GILIM.LD ST6ToT
3’5’7°13
a. 36 b.1/36 C. 1/1365 d. 12/455
3
V729- 327
5. Find the value of —/————
3512+ 9343

1 www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

3/729- 327

————— —60T F\LIL SHM606T
3512+ ¥343 Sy

a.2/s b. 3/7 C. 6/4 d. 5/2

6. Sixty-Five percent of a number is 21 less than four fifths of that number. What

is the number?

21 61651 eT6vTTETD 60T S ILIM6TIS) Hevor(BLpshe Ceucvsngw slevvevuilett 65 FHa1s WwHliemL 5 60
4 unFledt DG eTevutevvilest e HiS S eury WHILME S erevsfled MBS eTevsTIEMETHT
sevor(hLilig?

a. 140 b. 150 C. 135 d. 120

. 1 . . 1 . .
7. A man invested 3 of his capital at 7% L ats% and the remainder at 10%. If his

monthly income is Rs. 561, the capital is

QRUHEUT &6v15)| @peog,mg’,@s%r% LOL G160 7% QUL Igd:(SLD, % LOL 1608 8% QUL 195 (LD,
155505 TensenW 10% Ul ipshGLD (W&565([H QFWSIMN. D1565T CLP6VLD Si6Ul) LDMG AU(THLOMEBTLONS
em. 561 QUMM stevfleb Djeu W565(H CFWLIG CNSsH QHNeNS: sTeuaisay?

a. 6600 b. 79200 C. 13200 d. 6732

8. The sum of money placed at compound interest doubles itself in 4 years. In

how many years will it amount to 4 times itself?

Qb Q5Mems 4 auBLSHS6v Fal (b auliguiled @nevor(h WLEIE SpEIMGI. 215IC6u 4 WLEISTS
6T6UGUEITEY S46UTT(H Dh(SHLD?

a. 12 years b. 13 years C. 8 years d. 16 years
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9. The sum of the squares of three consecutive natural numbers is 2030. What is

the middle number?
eweml AHS55HS5S @uisv etevmrserlett aujsamiseflest Fa(Hse6v 2030. eTevfléb emiow eTevoT WING)?

a.2s b. 26 c. 27 d. 28

10. The mean of the 5 members is 32. If one of the number is excluded, then the

mean is reduced by 4. Find the excluded number.

5 etevisseiflest #nnaifl 32. SeuGeusssIsaflest ettemm B @D Gungy), snnaflulles 4 GenmbSTev

B&HSLILLL 6T65T60600T8: &IT6ToTaLD.

a. a3 b. 48 C. 46 d. a7

11. Find simple interest for Rs. 6,750 for 219 days at 10% perannum
erh. 6,750 &(8) 219 HINLS(EH5(S 10% el lg IS Hevfl aUligens &mesors.

a. Rs. 405 b. Rs. 155 c. Rs. 450 d. Rs. 350

12. The L.C.M. of two numbers is 48. The numbers are in the ratio 2:3. The sum of

the numbers is

B eTevvTsEifletT L5.QILIMLD. 48. DIHG 6T6VBISHEI 2:3 6T6TD) SflHH5HE60 SenIOIHF|6TeNEDT. B

eT6vt18611l65T For(HBH6MEVE: SHMETHT

a. 28 b. 32 C. 40 d. 64

13. Find the value of (4.9)2

(4.9)? - 6i7 EIY HmevoT
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a. 24.81 b. 24.09 C. 20.01 d. 24.01

14. The difference between compound interest and simple interest on a sum for 2

years at 8% is Rs. 768. Then the sum is

O4600TIgM (G 8% UL ly aflEHl55H6v QD 6T1(H8EHEE (H CFHTensullest Fal (B QUL lpsELW0
sevfl el igp& @G (psitem eflSEWNEID erm. 768 eTevflev SiHSHSH CHMENS 6T6dTLIS)|

a. Rs. 1,00,000 b. Rs. 1,10,000 c. Rs. 1,20,000d. Rs. 1,70,00
15. Find the value of (256)5/4

(256)°/* -gi1 HIY SHmevor

a. 512 b. 984 C. 1024 d. 1032

16. The sum of the first 99 terms of the series g + 3—56 + 7 + _a +

144~ 400

3,5, 7 9 , . X . . .
st 3et et 200 T o cTEOID @z nLiflest (1P560 99 2 M seflest sa (B0
a. — b. —— C d.1

100 1000 10000
17.1f x: y=2:1then (x2 — y?) : (x% + y?)is
x:y=2:1aefleo (x2 —y2) : (x* + y?) eretrewn
a.3:5 b.1:3c.5:3 d.3:1
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18. Area of circle is equal to the area of a rectangle having perimeter of 50 cm
and the length is more than its breadth by 3 cm. What is the diameter of the

circle?

QB auLLSH6sT LUPLILLD, QF6ueusSH6oT HMHMETAILD FIDIDNS 2 6TT6NG), 66U 50 QIF.15.
Qesucus:sHlet1 Heombd SimevHms aflL 3 Q.15 fsNs: 2 6iTengy), eTevflev ulLGHetr afl LD
6TEUGUEITRY?

a.zcm b. 21 cm Cc.28 cm d. 14 cm

19. A alone can complete a piece of work of Rs. 800 in 8 days; but by engaging an
assistant, the work is completed in 5 days. Find the share to be received by the

assistant

A etedTUIGUIT DL (LD €rh. 800 S&8MevT (I Ceusmeveni 8 Hsiflev (WplILING. HHH Ceuemevemw
e Qp 2.Haillwnenenn eneuss1s Cameso® 5 Hetled (WPipszHmev 2 HafllWnen(HsE ey
Q&n(hss Geuesorigwl LIMKGI(G) eTeususay?

a. 500 b. 300 c. 800 d. 600

20. 15 men take 21days of 8 hours each to do a piece of work. How many days of 6

hours each would 21 women take, if 3 women do as much work as 2 men?

15 Gurj, QRUH Hevens: (S, 8 wevsfl GBI Ceusnev Q&G 21 BT S6flev e Ceuemevemus
Q&g (Y& Hletment etevflev (H HNeneNE(S, 6 Wevsll GBI Galemev QIF LG, 21 CLIETEIS 61T
155 6m60T HMLS6iflev 3ibFH Cauemeveniu QEIg) (WiplILT. @riiE 3 CLETHIS6, 2 Y evo1s6efl 6ot
gomest Geusmevemw Q&S 6sTMEDTI?

a. 20 days b. 25 days c. 18 days d. 30 days
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21. A and B can do a job together in 7 days. A is 1% times as efficient as B. The

same job can be done by A alone in

A M B pHlweuiseit C&imbgl e H Ceuemevenw 7 BLseiflev (pipsHledtmenTy. A eTedTLIo B
sow afl 1% LG afleneuns (Wigliumy erevflev 9188 Geusmeveniwt A sesflung 6158 6me6vt
BrLseflev (Wigplimi?

a. 9& days b. 11 days C. 12% days d. 16% days
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